Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 9 - Ellon and District

5,488

4

1,098

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John CRAWLEY	Scottish Conservative and Unionist	1,050
Isobel DAVIDSON	Scottish Liberal Democrats	1,205
Josh GALL	Scottish National Party (SNP)	599
Mark LAPPIN	Scottish Labour Party	348
Louise MCALLISTER	Scottish National Party (SNP)	1,139
Gillian OWEN	Scottish Conservative and Unionist	906
Craig William STEWART	Scottish Green Party	241
	Total	5,488

Candidate Isobel DAVIDSON Elected with 1,205 votes, being in excess of the quota of 1,098 Candidate Louise MCALLISTER Elected with 1,139 votes, being in excess of the quota of 1,098

This report contains the transfers results.

Stage 2 - Surplus of Isobel DAVIDSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CRAWLEY	148	0.08879	13.14092
Transfer to Josh GALL	145	0.08879	12.87455
Transfer to Mark LAPPIN	244	0.08879	21.66476
Transfer to Gillian OWEN	323	0.08879	28.67917
Transfer to Craig William STEWART	158	0.08879	14.02882
No further preference	187	0.08879	16.60373
Not transferred due to rounding			0.00805
	Total		107.00000

This report contains the transfers results.

Stage 3 - Surplus of Louise MCALLISTER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Josh GALL	929	0.03599	33.43471
Transfer to Mark LAPPIN	38	0.03599	1.36762
Transfer to Gillian OWEN	38	0.03599	1.36762
Transfer to Craig William STEWART	77	0.03599	2.77123
No further preference	35	0.03599	1.25965
Not transferred due to rounding			0.00739
	Total		41.00000

This report contains the transfers results.

Stage 4 - Exclusion of Craig William STEWART

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CRAWLEY	5	1.00000	5.00000
Transfer to Josh GALL	123	1.00000	123.00000
Transfer to Mark LAPPIN	68	1.00000	68.00000
Transfer to Gillian OWEN	8	1.00000	8.00000
Transfer to John CRAWLEY	6	0.08879	0.53274
Transfer to Josh GALL	19	0.08879	1.68701
Transfer to Mark LAPPIN	50	0.08879	4.43950
Transfer to Gillian OWEN	17	0.08879	1.50943
Transfer to John CRAWLEY	3	0.03599	0.10797
Transfer to Josh GALL	47	0.03599	1.69153
Transfer to Mark LAPPIN	6	0.03599	0.21594
No further preference	37	1.00000	37.00000
No further preference	66	0.08879	5.86014
No further preference	21	0.03599	0.75579
Not transferred due to rounding			0.00000
	Total		257.80005

This report contains the transfers results.

Stage 5 - Exclusion of Mark LAPPIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CRAWLEY	67	1.00000	67.00000
Transfer to Josh GALL	94	1.00000	94.00000
Transfer to Gillian OWEN	44	1.00000	44.00000
Transfer to John CRAWLEY	43	0.08879	3.81797
Transfer to Josh GALL	53	0.08879	4.70587
Transfer to Gillian OWEN	40	0.08879	3.55160
Transfer to John CRAWLEY	1	0.03599	0.03599
Transfer to Josh GALL	24	0.03599	0.86376
Transfer to Gillian OWEN	2	0.03599	0.07198
No further preference	211	1.00000	211.00000
No further preference	158	0.08879	14.02882
No further preference	17	0.03599	0.61183
Not transferred due to rounding			0.00000
	Total		443.68782

This report contains the transfers results.

Stage 6 - Surplus of John CRAWLEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Josh GALL	39	0.03720	1.45080
Transfer to Gillian OWEN	918	0.03720	34.14960
Transfer to Josh GALL	14	0.00330	0.04620
Transfer to Gillian OWEN	121	0.00330	0.39930
Transfer to Josh GALL	13	0.00133	0.01729
Transfer to Gillian OWEN	4	0.00133	0.00532
No further preference	165	0.03720	6.13800
No further preference	62	0.00330	0.20460
No further preference	9	0.00133	0.01197
Not transferred due to rounding			0.00429
	Total		42.42737

This report contains the transfers results.

Stage 7 - Exclusion of Josh GALL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gillian OWEN	159	1.00000	159.00000
Transfer to Gillian OWEN	70	0.08879	6.21530
Transfer to Gillian OWEN	25	0.03720	0.93000
Transfer to Gillian OWEN	218	0.03599	7.84582
Transfer to Gillian OWEN	11	0.00330	0.03630
Transfer to Gillian OWEN	9	0.00133	0.01197
No further preference	657	1.00000	657.00000
No further preference	147	0.08879	13.05213
No further preference	14	0.03720	0.52080
No further preference	782	0.03599	28.14418
No further preference	3	0.00330	0.00990
No further preference	4	0.00133	0.00532
Not transferred due to rounding			0.00000
	Total		872.77172